Apartment in Qawra



Reference No: 240061191-37

Qawra, North



€330,000

Total Rooms: 6

Bathrooms: 2

Floor Area (m²): 109

Bedrooms: 3

Apartment - For Sale - Qawra

QAWRA – APARMENT – Located in the heart of town close to all amenities is this Highly Furnished Apartment on the sixth floor served with Lift. This property consist of a spacious Open Plan (Kitchen/ Living/ Dining), with a Front Terrace. One also find 3 Bedrooms (main with shower en-suite) and a Main Bathroom, there is also a back Terrace with distant sea views. There is also an optional 1 car garage interconnected for an additional price of €40,000. The property is freehold, contact your preferred agent for more info or immediate viewing!

Features

Rooms

Kitchen/Living/Dining: 7.42 x 6.89 m (51.12 m2)

✓ Double Bedroom: 3.2 x 3.18 m (10.18 m2)

Double Bedroom : 3.84 x 2.58 m (9.91 m2)

Double Bedroom : 3.65 x 3.3 m (12.04 m2)

✓ Hallway : 1.2 x 3.2 m (3.84 m2)

✓ Bathroom : 2.38 x 1.83 m (4.36 m2)

Shower Ensuite : 1.97 x 1.82 m (3.59 m2)

Open Space : 1.56 x 3.69 m (5.76 m2)

Open Space : 1.5 x 2.56 m (3.84 m2)

Garage: 3.7 x 3.8 m (14.06 m2)

Gallery

















Jayden Lautier RE/MAX Superior - Fgura

M: 77775176

E: jayden@remax.com.mt

T: 23910000

RE/MAX Superior - Fgura 368,Zabbar Road, Fgura, Malta